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General Instructions:
1. The question paper contains THREE sections- READING, GRAMMAR & WRITING and LITERATURE.
2. Attempt questions based on specific instructions for each part. :

1.

SECTION: A READING SKILLS (20 MARKS)

Read the passage given below : : 10 marks
1. Politeness has been well defined as benevolence in trifles. It is the desire to put those whom we meet

perfectly at ease, and save them from every kind of petty discomfort and annoyance. The limited part
of benevolence called politeness requires only an inclination to make them happy temporarily, while
they are in our presence, and can be done without any sacrifice on our part or only with a slight
sacrifice of our personal comfort.

Politeness is said to be one of the most important characteristics of a civilized person. Politeness is the
art of choosing from among your thoughts. It must be implemented in every walk of life. When we
deal with people elder to us, we are polite. But an honest polite person is polite with everyong,
including people of lower status, workers, and even children. Not just with humans, we must also be
polite with animals as they help us.

Politeness is a skill, and like any other skill, can be mastered with practice. The greatest enemy of
politeness is ego. To be a polife person, you have to sacrifice your ego. It is difficult for an egoist to be
polife. You have to imply politeness in your thinking, speech, and action. Actions speak louder than
words. Polite actions will render fine results. Politeness will reduce your stress and boost you to be
productive. Apart from your present benefits, you protect your future. Being polite makes you
mentally healthy.

Different rules of behaviour have to be observed depending on whether we are in the street or at home
or school; among friends or with strangers, and so on. Our behaviour also varies on the basis of the
country we hail from as there is great diversity of social etiquette between the cultures of different
counfries.

Politeness, besides being a duty that we owe to others, is a valuable possession for ourselves. It costs
nothing, and yet may, in many cases, bring much profit. The great advantage of this excellence of
conduct was very clearly expressed by Dr. Johnson when he said that the difference between a well-
bred and an ill-bred man is that the former immediately attracts your liking and the latter your dislike.

Based on your understanding of the passage, answer the following guestions given below:
{a) Which of the following statements are NOT TRUE, according to the passage? 1

A. The limited part of benevolence called roughness requires only an inclination to make them
happy temporarily, while they are in our presence.
B. To be a polite person, you have to sacrifice your ego.
C. Politeness will increase your stress and boost you to be productive.
D. Politeness costs nothing, and yet may, in many cases, bring much profit.
HBandC (fiyAand C
(iii) A and B (ivyBand D
{b) Which of the following can be characterised as NOT ‘egoistic', according to you and with
reference to the passage? 1

A. A near-constant tendency to be self-referential.
B. An ability to commit to anything that doesn't serve their interests.
C. An exaggerated view of their inabilities.
D. A lack of personal accountability.
E. Difficulty empathizing.
(i) A, C (i B,C  w)DE (iv) A.E

(¢) What are the benefits of being polite? (Answer in about 40 words) ‘ 2

(d) Which of the following would be a suitable title for the given passage?
(1)) Politeness is an Art
(it) Characteristics of Being Polite
(iif) Benevolence in Trifles-Politeness
(iv) Politeness is a Duty
Contd...2



w2
() Select the sentence from the options that make the correct use of ‘well-bred’, as used in the passage. 1
(i) A carefully rendered coiffure also indicates a state of well-bred. .

(i1) His attitude was that of a well-bred man reluctant to discuss some family differences with a
prying outsider.

(iii) One is the sense of well-bred in socicty, which is virtually not existent.

(iv) Thus, the highest idea is that of goodness; things are, only if they are good;
being without well-bred is naught.

(f) How is politeness a valuable possession? (Answer in about 40 words) 2

(g) Fill in the blank: - 1
According to the writer, you have to imply politeness In your...........coeeieniionnnn

(h) Why is it difficult for an egoist to be polite? B

2. Read the following passage carefully: 10 marks

i. Fesiivals are synonymous with celebration, ceremony and joy. However, festivals bring to the fore the
flip side of celebrations — pollution — air, water, soil and noise. This led to the need of assessing the
awareness level among people about ecological pollution during festivals. So, a study was conducted by
scholars from an esteemed university in India. This study was titled, “Awarencss Towards Impact of
Festivals on Ecology.”

2. There were two main objectives of the study. The first one was to assess the awareness level among
people about ecological protection during festivities. Exploring solutions to bring awareness about
celebrating festivals without harming ecology was the second objective. The method used to collect data
was a simple questionnaire containing 6 questions, shared with 50 respondents across four selected
districts of a state in the southern region of India.

3. The research began by understanding the socio-economic conditions of the respondents before sharing
the questionnaire. Once the responses were received, the data collected were tabulated for analysis.

Awareness level among respondents
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4. The study recommended the imposition of strict rules and regulations as opposed 10 a total ban on all
festive activities which have a drastic impact on our environment. The researchers believed that such
measures would help in harnessing some ill-effects that add to the growing pollution and suggested
further studies be taken up across the countiry 1o assess awareness about ecological degradation.

5. The observations made in the study pointed to the environmental groups and eco-clubs fighting a losing
battle due to city traffic issues, disposal of piastics, garbage dumping and all sorts of ecological
degradation. The researchers stressed that the need of the hour is increasing awareness among people to
reduce environmental pollution which can be facilitated by celebrating all festivals in an eco-friendly
manner.

Based on your understanding of the passage, answer the questions given below: 10 marks
() VOO does not create awareness among people to save the environment. Many who needed
treatment for diseases like cancer, heart ailments and diabetes were not getting the required attention. 1
(i) Traffic issues  (ii) Growing pollution (i) Total banning (iv) All of these
(b) We unintentionally pollute our ecology. This statement means that we do so by: i
1. playing loud music 2. understanding the socic-economic conditions
3. bursting crackers in the air 4. throwing leftovers in the water

iy 2&4 (iiY2&3 (iii) 1 &4 (iv) All, except 2
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(¢) Complete the following with a reason from paragraph 3.

ACTION DESIRED

REASON

To educate people

(&) Even though a larger number of people say 'no' to bursting crackers than those who say 'ves/,
festival pollution persists. How does the evidence from the above table support this statement?
(Answer in about 40 words)

(e) What purpose does the ‘Can't Say' column serve in the questionnaire?

{f) What do you infer from celebrating all festivals in an eco-friendly manner?

(i) To use fresh flower

(ii1) To advocate ecological degradation

(i1} To use hand-made clothes

(iv) Both (i) and (ii)

(g} Justify the researchers' recommendation for limiting the drastic impact of festlval pollution on the
environment. {Answer in about 40 words)

(h) Select the option that displays the recommendation of the study, according to para 4.

(i) To pressurise the offenders who burst crackers during the festivals
(i1} To sensitise ecological protection

(iil) To impose strict rules and regulations against the violation
(iv) To analyse the impact of pollution

SECTION B : GRAMMAR & WRITING SKILLS (20 MARKS)

GRAMMAR™

Attempt ANY TEN of the following questions, as directed:
(a) Fill in the blank by choosing the correct option to complete an online update.

The climate control comment by an activist............ on social media yesterday.
i11) is blown iv) will be blown

1) blow up

i1) blew up

10

(b) Read the conversation between a mother and her son. Complete the sentence by reporting the mother’s
- reply correctly.

Son: Mom, how do I become an artist?

Mother: You will need to learn more about the art you like and practise it everyday.
A son asked his mother how he could become an artist. She told him that

{c) Fill in the blank by choosing the correct options to complete this advertisement.

Are you looking for more books to read? Due to popular demand , we ..........

One Free’ offer next weekend!
i} brings i) brought
(d) Identify the error in the given sentence, from a school magazine report and supply the correction. 1
In order to balancing the sentiments of the Eagles and the Hawks, the Student Council suggested a

rematch between the teams.
Use the given format for your response.

iii) will bring 1v) were bringing

Error

correction

(e) Complete the given narrative, by filling in the blank with the correct option:
As I was standing on the dock, looking out at the lake for the last time, a feeling of
................. over me like darkness.

emptiness. .

i} will wash

11} had washed iiiywill have washed iv) washed

Jback cur ‘Buy one Get

(f) Report the dialogue between a grandson and his grandfather, by completing the sentence:

Grandson: Grandpa, who are your superheroes?
Grandpa: Anyone who shows kindness and compassion to others.

In response to the question about his superheroes, grandfather says that

(g) Fill in the blank by using the correct form of the word in the bracket, for the given portion of a diary

entry:

Today I saw the most beautiful sunrise over the ocean. I wish I could

capture and preserve the beauty I witnessed.

{h) Fill in the blank with the correct option to complete the sentence below:

You must have got good news. Lcould .......cooevinne. you celebrating!

1) hear

ii) hears

11i) heard 1v) hearing

1
{painting) it to

(i) Fill in the blank by choosing the correct option, to complete the slogan by the Ministry for Child Welfare 1

WE AFFORD TONEGLECT CHILDREN? THINK TWICE!!
1y MAY 1) NEED

iv) CAN
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() Select the option that identifies the error and supplies the correction for thefollowing line, from a

news repett: 1
Last week, a children was not allowed to board the plane at Ranchi airport.
Option Ne. | Error Correction
A children child
B last previous
C the a
D was 15

(k) Fill in the blank by using the correct form of the word in the bracket, for the gfven portion of the letter: 1

Dear Sir, _
This is to respectfully submat that I ...

(seek) approval for organizing a tree
plantation drive to be undertaken by the club.

(D) Sunil shared some information with Anil, about a holiday at sea. Report Anil’s question.
Did you enjoy traveling by sea? 1
WRITING SKILLS : 10 Marks
4. A. Tourism being one of the biggest and fastest-growing industries globally, affects the economic, socio-

cultural, environmental and educational resources of nations. Improving tourism industry in India would
thus lead to national development in many spheres. As Ankit/ Ankita, write a letter to the Editor of The
Times of India, expressing your views on the same, in about 120 words. 5

- OR
4.B

Recently you have come to know that an open and well-maintained park of your area will soon be
converted into a shopping complex. The proposal of the shopping complex is ready for permission of
the Commissioner. Write a letter, in about 120 words, to the Commissioner of MCD requesting him not
to disturb the park which is the only open space in your area and suggest the alternative space for the
shopping complex. You are Vineet/Vineeta living at Paradise Apartments, Raj Vihar, Delhi.

5.A  The given double bar graph shows the preferences of children in a school in playing different games
over the span of six years. Write an analytical paragraph about the given information. Write your answer
in about 120 words. oot Volleyball £ 5
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212
You may begin like this:
The double bar graph shows the preferences of children in a school in playing different games
over the period of ...
You may end like this:
Although data shows that volleyball has got the highest number of interested children ...
OR
5.B. The following pie chart represents the distribution of the overseas tourists and their age profile
respectively. Study the chart carefully and write an analytical paragraph giving the general trends and
other necessary details. Do not forget to compare the segments where relevant. Write your answer in
about 120 words. dhstriition o The OVBIIEES HDUly

& e AEEREE 52 e of vasn - MEEDwms  Beltwid

You may begin like this: -
This pie chart represents the distribution of the overseas tourists and their age profile
You may end like this: The younger people appear 1o lack free time and money
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7.

8

SECTION: C LITERATURE (40 MARKS)

Read the extracts and answer the questions given below: (ANY ONE) 5

A.  All through the night, Lencho thought only of his one hope: the help of God, whose eyes, as he had

B.

Read the given extracts and answer the questions : (ANY ONE )
A.

been instructed, see everything, even what is deep in one’s conscience. Lencho was an ox of a man,
working like an animal in the fields but still, he knew how to write. The following Sunday, at
daybreak, he began to write a letter which he himself would carry to town and place in the mail. It
was nothing Jess than a letter to God.

(i) Mention the only hope that Lencho had. 1
a) God b) Government ¢) People from Post Office  d) His family’s support
(il) State True or False. 1

Lencho was a diligent farmer and a deeply religious man.

b2

(iii) “He knew how to write.” What is the significance of this line? (Answer in about 40 words)

(iv) What does ‘Lencho was an ox of a man’ imply? i
‘ OR
“Hey, a tea garden!” Rajvir cried excitedly. Pranjol, who had been born and brought up on a

plantation, didn’t share Rajvir’s excitement. © Oh, this is tea country now,” he said. “Assam has the
largest concentration of plantations in the world. You will see enough gardens to last you a lifetime!”
“] have been reading as much as 1 could about tea,” Rajvir said. “No one really knows who
discovered tea but there are many legends.”

(i) Why was Pranjol not as excited as Rajvir about the tea gardens? 1

(2) He disliked looking at tea gardens.

(b) He had worked in tea gardens himself.

(c) He had grown up in and around tea gardens.
(d) He was bored with tea gardens.

(ii) What does Pranjol mean by saying ¢hat Assam has the largest concentration of plantations in the

world? (Answer in about 40 words) 2
(iii) How, according to Rajvir, does the world know about the discovery of tea? 1
(a) Historical places (b) Traditional tales
{(c) Authentic anecdotes (d) Popular publications

(iv) Select the option that correctly captures the application of the word ‘cried’ as used in line 1 of
the extract. 1
(a) Jaspreet cried a ot in spite of winning second place in a competition.
(b) Jaspreet cried out loud when she saw a white tiger in the sanctuary.
(¢) Jaspreet cried for hours when the police were unable to find her lost pet.
(d) Jaspreet has barely cried since she was three years of age.

N

Has given my heart

A change of mood

And saved some part

Of a day 1 had rued.

(i) How does the speaker’s use of the word “heart” impact your interpretation of the stanza? 1

(a) Tt suggesis a deep emotional connection to the snowfall.
(b) It implies that the snowfall had physical effects on the speaker’s body.
(c) It adds a romantic tone to the stanza.
(d) It has no impact on the interpretation.

(ii) What might have caused the speaker’s bad day? 1
(a) Losing a job (b) Ending a relationship  (c) Failinga test (d) Any of these

(iiiy What is the figure of speech used in the phrase “saved some part”™? 1

(a) Metaphor (b) Simile (c) Alliteration (d) Hyperbole

(iv) Comment on why the poet says that he had ‘saved some part of the day T had rued’.

)

(Answer in about 40 words)
Contd...6
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11.

OR
B. He stalks in his vivid stripes
The few steps of his cage,
On pads of velvet quiet,
In his quiet rage.
He should be lurking in shadow,

Sliding through long grass
Near the waterhole
Where plump deer pass.
(1) ‘Quiet rage’ refers to the tiger’s: 1
(a) helpfulness (bj disappointment (c} suppressed anger (d) anxiety
(i) Why is the tiger lurking in shadows? 2
(ii1) Complete the sentence appropriately. 1
It is clear that metaphor is the poetic device used for ‘pads of velvet’ because
.......................................... {explain how metaphor applies here) 1
(iv) Find a word from the extract which means ‘to waik with measured, stiff or haughty strides’. 1
a) steps b) lurking ¢) pads d) stalk
Answer ANY FOUR of the following five questions in about 40-50 words each. 4x3=12

(i) How does Mandela define courage and from where did he learn the meaning of courage?
(i), Why does Anne say “Paper has more patience than people™?

(iii) Where and how can we have a pancramic view of the misty landscape of Coorg from?
(iv) What message does the poet want to give through the poem — *Amanda’?

(+) ‘Humour is the best medicine for every ailment in life’. Comment. (How to Tell Wild Animals)

Answer ANY TWO of the following three questions in about 40-50 words: 2x3=6
(i) Mrs. Pumphrey an overindulgent but silly and impractical mistress. How?

(ii) Pride before a fall befits Max, who said “I will get it back tonight.” Was he successful? What lesson
can be leamt from this? {The Midnight Visitor)

(iti) How did Griffin succeed in becoming invisible? What was the result of his experiments?

Answer ANY ONE of the following questions. 1x6=6

(A) “All parental acts are for the betterment of the children.” It is true. However, one has to make efforts
through trials and errors shedding off cne’s early heésitations and fears to succeed in any enterprise.
‘Write this presentation draft, using ideas from ‘His first Fight’, and also include your views, in
about 120 words.

You may begin this way:
There is no doubt about it, ‘All parental acts are for the betterment of the children’. It is the ardent
wish of every parent that they may teach all skiils to their young ones ... however ...

OR

(B) Imagine yourself to be the elder brother of the boy in “The Ball Poem’. You came to know about
the loss of * the boy’. Write a letter to the ‘boy ’in about 120 words, using the ideas of the poet and
also your own, about how to cope with the loss.

You may begin your reply like this:
I don’t think you should take this to heart. You see...

Answer ANY ONE of the following questions. 1x6=6

(A) Imagine that you are Hari Singh. You were deeply touched by the care and concern shown by Anil
which changed your perspectives as a thief. (The Thief’s Story) Write a diary entry expressing your
feelings, in about 120 words.

OR _

(B) Horace Danby represents such people who adopt the wrong ways to fulfill their wishes. In the light
of the above information, what values would you like such people to imbibe, to reform themselves?
(A Question of Trust) Answer in about 120 words.

CECE 08 T
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DELHI PUBLIC SCHOOL, BHILAI

Date : 03.10.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs.
Class: X Subject : Mathematics Max. Marks : 80

General Instructions :

01.

02.

04.

05.

06.

07.

This Question paper has 5 sections A-E.

Section A has 20 MCQs carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 guestions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each.

Section E has three case based integrated units of assessment {4 marks each) with sub-parts of the values of 1, 1
and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of 3 marks and
2 guestions of 2 marks has been provided. An internai choice has been provided in the 2 marks guestions of
Section E.

. . 22 . .
Draw neat figures wherever required. Take w = - wherever required if not stated.

Section - A
(This section comprises Multiple Choice Questions (MCQs) of 1 mark each)

Which of the following statements is true ?

(a) HCF x LCM = Product of the numbers (by HCF + LCM = Product of the numbers

(c¢) HCF=LCM (d) None of these (1)
If one zero of the quadratlc poiyno*mal kx?+3x+k is 2 then the value of & is

OF ® 7 @z @7 m

(a) 3 (b) 2 () 1 (d) 4 (D

If the system of equations kx — 5y = 12,6x — 10y = 24 has infinitely many solutions then % is
(a) O (b) 3 (c) 6 (d 1
If ABCD is a rectangle as shown in figure, then
ity
D¥ '
|
¥ ;g
: '
A 3
: = y
(&) x=2,y=10 (b) x=12,y=8 ) x =10,y =2 (d)y x=20,y=0 (1)
If a pair of equations is consistent, then the lines representing them are
(a) Interesting always (b) parallel
(c) Coincident always (d)} Interesting or Coincident (1)
In triangles ABC and DEF, £B = £E, £F = 2C and AB=3DE. Then, the two trlangles are:
(a) Congruent but bot similar (b} Similar but not congruent
(c) nerther congruent nor similar  (d) congruent as well as similar (H
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08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

ae 2 ve
I i

The point A is on positive y axis at a distance 4units from the origin. If the co-ordinates of
Bare (—3,0) thenthelength ABis:

(a) 7 units (b) 49 units {c) 5 units (d) 25 units (1)
If sin@ = % , then tanf is equal to

b b a b
@ Jer b)) F== ©) = @) = ()
If sin6 = x and secl =y then tanf isequalto:

x 1

(2) xy ) 5 © % @ M)
If x tan 45° cos60° = sin60° cot60® ,then x isequal to
(@) V3 () 1 ©) % @ % M)
The product of a non zero rational number and an irrational number is
(a) Always rational (b) Always irrational  (c) rational or irrational ~ (d) none of these (1)

If the area of a circle is  64mem? , then the circumference is
(a) 7mcm (b) l4mcem (c) 21T cm (d) 16mcm (H

A number is chosen at random from the numbers -5, ~4,—3,—2,—1,0,1,2,3,4,5 . Then, the
probability that the square of this number is less than or equal to 1, is

(a) 9/11 (b) 8/11 {c) 3/11 (dy 7/11 (1)
The probability of a sure event is

(ay 0 (b) 1 () —1 (d) none of these (D
Two coins are tossed together. The probability of getting at least one tail is

(a) % (b) % () %2 (@ 1 (1)
From the letters of the word “MOBILE”, if a letter is selected, what is the probability that it is a Vowel?
(ay 1/3 (by 4/7 (c) 3/7 (d) A (H
The ratio in which the line segment, joining points A (3,—4) and B (=2,7) isdivided by x axis is
(a) 3:2 ®2:3 (cy 47 (d) 7:4 (1)

Question Numbers 19 and 20 are Assertion and Reason based questions, carrying 1 mark each.
. “Two statements are given, one as Assertion (A) and the other is labeled as Reason R).
Select the correct answer to these questions from the options (a), (b), (c) and (d) as given below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explaination of the Assertion (A).
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explaination of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

19.

20.

21.

22.
23.
24,

Assertion (A) : The productof 5+ V3 and (2 —+/3) is are irrational number.
Reason (R) : The product of two irrational number is always an irrational number.

Assertion (A) : For any acute angle & , the value of sinf can not be greater than 1.
Reasen (R) : Hypotenuse is the longest side in any right angled triangle.

Section — B (2x5=190)
L8}
In the given figure, LM || AF .
I AL=x—-3,AC=2x,BM = x—-2and BC=2x+3, & M
find the value of x
L OR & B

In the given figure AABC and AAMP are two right A’s,
right angles at B and M respectively.
Provce that AABC~AAMP .

Prove that 4 + 2+/7 is an irrational number.
If the product of the zeros of the polynomial ax? — 6x — 6 is 4, then find the value of a.

If the point € (—1, 2) divides internally the line segments joining A(2,5) and B (x,y) in the ratio
3:4, find the co-ordinates of B.
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25.

26.

27.
28.

29.

30.

31.

32.

32 (a)

33.

34,

35.

i 2tan3o’ 3
Show that : sin60° = ——3?33-— L
i+tan?30 2

OR

If cosf = ~1-8; ,find sinf and sec@
Section — C (6x3=18)
@ by €1

On comparing the ratios L and — , find whether 2x — 3y = 8 and 4x — 6y = 9 are

2 ¢z
consistent or inconsistent . Also write whether the lines are intersecting. Coincident or parallel.

OR
Find the solution for following pair of linear equations, graphically
3x+4y =10
2x — 2y =2

Prove the following identity : (sind + cosecA)? + (cosA + secA)? = 7 + tan?A + cot®A .

To wam ships for under water rocks, a light house spreads a red coloured light over a sector of angle
120° to a distance of 20.5 km. Find the area of sea, over which the ships are warned. = = 3.14

In a seminar. The number of participants in Hindi, English and Mathematics are 60, 84 and 108
respectively. Fin the minimum number of rooms required, if in each room, the same number of
participants and to be seated and all of them being in the same subiect.

OR
There is a circular path around a sports field. Sonia takes 18 minutes to drive one round of the field,
while Ravi takes 12 minutes for the same. Suppose they both start at the same point and at the same
time, 8.00 am and also are going in the same direction, at what time will they meet again?

Find the zeros of the polynomial 6x% — 3 — 7x and verify the relationship between the zeros and their
coefficients.

Find the co-ordinates of the point, which divide the line segment joining A(~2, 2)amd B(2, 8) into four
equal parts.
3 Section — D (d4x5=20)

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct
points, the other two sides are divided in the same ratio.

OR
In the given figure, altitudes AD and CE o
of AABC intersect each other at the point P, |
Show that : AAEP ~ CDP /1>
.
h \
i A ¢ B
(b) In the given figure, DE [ AC
D BF _ BE
and DF || AE . Provethat — = —
FE EC
B F E Y

Two dice are thrown simultaneously. What is the probability that :
(a) The sum is a prime number.

{b) The total of Two number is 10

{c) Same number on both dice i.e. a doublet

(d) The sum of Two numbers is 15

{e) The sum is an even number

Five years hence, father’s age will be three times the age of his son. Five years ago, father was seven
times as old as his son. Find their present ages.

OR
A fraction is such that if the numerator is multiplied by 3 and the deneminator is reduced by 3, we get

18 . .. ) . 2z . )
- But if the numerator is increased by 8 and the denominator is doubled, we get < Find the fraction.

The sum and product of the zeros of a quadratic polynomial are :2—1- and _?3 respectively. What is the
quadratic polynomial? Also find the zeros of the quadratic polynomial obtained.
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. Section - E (4x3=12)
(This Section comprises 3 Case Study based questions of 4 marks each)
Case Study I (1+1+2)
36.

Thf: _Class X' students of a school have been allotted a rectangular plot of land for their gardening
activity. Saplings of Gulmohar are planted on the boundary, at a distance of 1 metre from each other.

There is a triangular grassy lawn in the plot, as shown in the following figure. The students are to sow
seeds of the flowering plants on the remaining area of the plant.

(1) Find the co-ordinates of P and Q if A is taken as origin and AB and AD are the co-ordinate axes.
(2) Find the co-ordinates of R if C is taken as origin and CD and CB are the coordinate axes.
(3) Find the distance Q R, if A is the origin, as in (i).
OR
Find the distance PQ, if A is the origin, as in (1)
Case Study 1T '

(1+1+2)
37.

Vijay is trying to find the average height of a tower, near his house. He is using properties of similar
triangles. The height of Vijay’s house is 20 m. When Vijay’s house casts a shadow 10m.Jong on the
ground, af the same time, the shadow of the tower is 50 m. long on the ground and the house of Ajay
casts 20 m. Shadow on the ground. On the basis of this information, answer the following questions:

Vs i

(1) What is the height of the tower?
(2) What is the height of Ajay’s house?
(3) When Vijay’s house casts a shadow of 12 m, the length of the shadow of the tower is how much?
OR
When the tower casts a shadow of 40 m. What is the length of the shadow of Vijay’s house?
Case Study Il

Towit : s FHaimin

(1+1+2)
38. A brooch is a small piece of jewellery which has a pin at the back so that it can be fastened on a dress.

Gy

T T k;;"‘»;,‘,\w"‘

Design A Design B

Design A ; Brooch A is made with silver wire in the form of a circle with diameter 28 mm.
The wire is also used for making 4 diameters which divide the circle into 8 equal parts.

Design B : Brooch B is made of two colours, gold and silver Outer part is made with Gold.
The circumference of the silver part is 44 mm. and the gold part is 3mm wide every where.
(1) In design A, what is the angle at the centre of each sector of the brooch?
(2) What is the radius of the outer part in design B?
(3) In design A, find the total length of wire required.

OR
Find the area of each sector in design A.
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DELHI PUBLIC SCHOOL, BHILAI

Date : 25.09.2023 MIDTERM EXAMINATION - 2023 | Time : 3 Hrs.
Class : X Subject : Science Max. Marks : 80

. General instruction:

s Question paper comprises 3 sections : A, B and C.

o All three sections are compulsory. In each section, there are MCQs, Assertion — Reason Questions, 2 marks,
3 marks and 5 marks questions. There are overall three Case-Based Questions, one inn each section.

¢ There is no overall choice in Question Paper i.e. all questions are compulsory. However, internal choice is
provided in some questions.

» In Assertion-Reason Questions of all three sections, the following options are to be considered and one most
appropriate option is to be selected-

(a)Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation of Assertion (A).

(b)Both Assertion (A) and Reason (R) are correct and Reason (R) is not the correct explanation of Assertion(A).

(c)Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

..........................................................................................................................................................................................................

Section — A (Physies : 27 Marks)

1. Which of the following lens will diverge the ray of light more- (01)
a) 2D by 1D ¢)-0.4D d) -0.8D

2. A student sitting on the last bench can read the letter written on the black board but is not able to read
the letters written in his text book. Which of the following statement is correct? (01)

~ a) The near point of his eyes has receded away.

" b) The near point of his eyes has come closer to the him.
c) The far point of is eyes has come closer to hin.
d) The far point of his eyes has receded away.

3. To obtain the magnification of +2 with a concave mirror of radius of curvature 60cm the object distance
must be (O
ay -90cm b)-45cm c)-30cm d) -15cm

4. During refraction of light through a rectangular glass slab- (01)

(i) Emergent ray is parallel to the direction of the incident ray.

(ii) The angle of emergence is equal to the angle of incidence.

(iii) The emergent ray is shifted laterally (sideward).

(iv) The angle of refraction is greater than the angle of incidence at the first interface of air and glass.

The correct options are -

a) () & (1) b)) (1), (111) & (Gv) ¢} (1), (i) & (iii) d) (@) & (iv)

Assertion and Reasoning question options are given in the general instruction.
5. Assertion (A) : The mirrors used in search lights are concave spherical mirror.

Reason (R): In concave spherical mirror the image formed is always virtual. (01)
6. State laws of refraction of light. (02)

OR
a) What is absolute refractive index.
b) A ray of light is passing through glass to water. If the absolute refractive index of glass is 3/2 and
that of water is 4/3 find the refractive index of water with respect to glass.

7. Identify the part A and B of human eye and write the function of each. (02)

8. We wish {o obtain an equal sized image of a candle flame on a screen kept at a distance of 4 m from the lens.
a) Name the type of lens that should be used. _
b} What should be the focal length of the lens and at what distance from the candle flame should the
lens be placed?
¢) ‘Draw a labelled diagram to show the image formation in this case. (03)
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10.

11.

12.

13.

14,

16.
17.
18.

19.

~ When a ray of white light enters a glass prism (denser medium),

2

a) Define the term magnification as referred to spherical mirrors.
b) If a concave mirror forms a real image 40cm from the mirror, when the object is placed at a distance

of 20cm from its pole, find the focal length of the mirror. Find the height of the image if the object is
of height 4cm. (03)

A person is able to see objects clearly only when they are lying at distance between 50 cm and 300 em
from his eye.

(i) What kind of defect of vision he is suffering from?
(i) What is the cause of this defect? '

(iii) What kind of Jenses will be required to increase his range from current range (50 cm to 300 em) to
25 em to infinity? Explain briefly.

(iv) draw a diagram showing the lens used in spectacle. (03)

Which mirror is used as a rear-view mirror in vehicles? Give two reasons to support your answer. How

this mirror is used to see vehicles behind, show by ray diagram. (05)
OR

Which mirror is used by the dentist to see the cavity in your teeth? Give
reason to support your answer. Show it with the help of a ray diagram
how this mirror is used to see teeth.

it emerges out from it, broken into seven colours. This phenomenon,

due to which different components of a white light are separated by

a denser medium, is called dispersion. The phenomenon

of splitting of white light into seven colours when it passes through a glass
prism called dispersion of white light. When the dispersed white light is
made to fall on a white screen, we get a seven coloured band of light. This
coloured band is called spectrum. The order of colours from the lower end
of the spectrum is violet, indigo, blue, green, yellow, orange and red. The
colours can be remembered by the word VIBGYOR. In air, light waves of all colour have same velocify
(3 x 10® m/s). white light is mixture of seven colours. Every colour has its own characteristic
wavelength. Wavelength

of different colour is given in the table.

Angstrom (A) is unit of wavelength 1 A =10""m.
Based on the above extract answer the following.

Srno. | Colour | Wavelength

a) Which colour light deviates the least? What is the L1 Yo 4000 A
ndigo 4500 A
wavelength of that colour? 3 Bl 2300 &
b) Which colour light deviates the most? What is the 4 Greon <400 A
wavelength of that colour? s Yellow 5300 A
¢) How can we get back white light from the glass prism? 5 Orange 000 A
Show by ray diagram. oR (04) - Red 7900 A
Explain the natural phenomenon which occur in the sky
based on the above exiract. Draw necessary diagram also.
Section ~ B (Chemistry : 26 Marks)
Hydrogen gas .
(a) is colourless  (b) is odourless (¢) burns with a blue flame (d) all options are correct 01)
Chemical rust is .
(a) hydrated Iron (II) oxide (b) hydrated Iron (III) oxide
(c) Only Iron (II) oxide (d) Manganese dioxide (01
Tn bags containing chips, air is quite often replaced by nitrogen. This will check
(a) the entry of moisture (b) the entry of oxygen
(¢) the rancidity of chips (d) all of the above are correct (01)
Redish brown deposit obtained on Iron nails when kept in a solution of CuSO4 in water is that of
(a) CuO {b) CuO (¢) Cu (d) CuS (a8
An element common to all acids is —
{(a) Chlorine (b) Nitrogen (¢} Sulphur (d) Hydrogen 0D
The two colours seen at the two extreme ends of the pH chart are —
(a) red and violet (b) red and green (c) greenandblue  (d) black and orange (01)

The difference of the molecules of water in Gypsum and Plaster of Paris is -
() 1 (b) 7/2 (c) 4 (dy 372 {01)
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20.

21.

22.

23.

24.

I B

Assertion (A) : Copper can displace silver from aqueous silver nitrate solution. .
Reason (R) : Silver is placed above copper in the reactivity series. 1)

Assertion {A) : Concentrated sulphuric acid has to be diluted very carefully.
Reason (R) : The acid has a strong affinity of water and the dilution process is highly exothermic. (01)

A shiny brown coloured element “M” on heating in air becomes black in colour. Name the element ‘M’
and the black coloured compound formed. Also write the chemical equation involved. (02)

Give one example of a metal which -

(a) is a best conductor of heat,

(b) Can be easily cut with a knife, _

{c) is a liquid at 25°C /Room temperature. (03)
(Write only one and best example in the above)

What is Brine? How can you obtain sodium hydroxide from Brine? Write the balanced chemical
equation for this preparation. What is the special name of this process? (03)
OR
(a) What is the common name of the compound CaOCl,? How is it prepared? Write the balanced
chemical equation for this preparation.
(b) Name the sodium compounds which are used for (i) softening hard water and (ii) as antacid.

25 () Write an equation to show the reaction between plaster of Paris (POP) and water. Write any two uses of

26

27.

28.

. 29.

POP.

.(b) Five solution A, B, C, D and E when tested with universal indicator show pH as 4,2,12,7,9

respectively. Which solution is —
(i) neutral (i) strongly alkaline (jii) strongly acidic (iv) weakly alkaline (v) weakly acidic
(vi) Arrange the pH in increasing order of H' jon concentration.
OR (05)

(a)Write the balanced chemical equations for the following reactions and identify the types of reactions also-

(i) Barium chloride + Aluminium sulphate — Barium Sulphate + Aluminium Chloride
(ii) Magnesium + Hydrochloric acid — Magnesium Chloride + Hydrogen

Heat
(iii) Lead (II) nitrate =, Lead (II) oxide + oxygen + Nitrogen dioxide

(b) ldentify the substances that are oxidised and the substances that are reduced in the following reactions -

(l) CuO+H;—» Cu+ HO
(ii) Fe;03 + Al Fe + ALO;

Case Study :

Two metals X and Y form the salts X8O, and Y280, respectively. The solution of salt XSO, is having a
colour whereas that of Y380, is coloarless. When Barium chloride solution is added to XSOy solution, a
white precipitate ‘Z’ is formed alongwith a salt which turns the solution green. When Barium chloride
solution is added to Y2504 solution, then the same white precipitate “Z” is formed alongwith a colourless
common sait solution.

(a) What could the metals X and Y be? M
(b) Write the formula of salt XSO,? (1)
(c) Give the colour of XSO4 and write the formula of salt Y2304 (2}
OR
(c) What is the name and formula of white precipitate *Z°? Write the balanced chemical equation
involved.

Section — C (Biology : 27 Marks)

The cell organelle involved in the formation of glucose
(a) Golgi Bodies (b) Endoplasmic Reticulum  (c) Plastid (d) Mitochondria 01)

During vigorous exercise the occurtence of cramps in the muscles of an athlete is due to
(a) lack of carbon-di-oxide  (b) excess of oxygen (c) thin walls of atria  {(d) none of the above (01)

What prevents backflow of bleod inside the heart during contraction?
(a) valves in the heart (b) thick muscular walls of ventricles
(¢) thin walls of atna (d) All of the above (01)
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30.

T 3L

32.

33.

34,

B B

In a person, tubule part of the nephron is not functioning at all. What will be it’s effect on urine formation

{a) The urine will not be formed  (b) Quality and quantity of urine is unaffected
(¢) Urine is more concentrated (d) Urine is more diluted (0D

The part in which gustatory receptors are present in our body 1s -

{(a) Inner ear {b) Skin (c) Tongue (d) Imner lining of nose (01

Assertion (A) : In animals, the brain is the main controlling centre for responding to changes i their
environment.

Reason (R) : The thinking process of the brain is not fast encugh in animals. (01)

Two green plants are kept separately in oxygen free containers, one in the dark and the other in

continuous light. Which one will live longer? Give reasons. 02)

How do auxins promote the growth of a tendril in a plant around a support? (02)

Name the two main organs of our central nervous system. Which one of them play a major role in

sending command to muscles to act without involving thinking process? Name the phenomenon

mvolved. (02}
OR

(2) Name the two ways in which glucose is broken down to provide energy in various OTganisms.

(b) What are the products formed at the end of each chemical reaction?

36 (a) What is the need for a system of control and co-ordination in human beings?

(b) How do control and co-ordination in plants differ from that in animals? Give any two points of

difference. (03)

37. (&) What is double circulation in human beings? Why is it necessary?

(b) What will happen to a plant, if it’s xylem is removed? (03)

38 (a) Draw a neat labelled diagram of the “unit of excretory system’ in human body and label the foliowing

39.

specifically — (i) Renal arteriole (i) Glomerulus
(iii) Bowman’s capsule (iv) Collecting duct
(b) What is ‘haemodialysis’ Why is it required? (03)
OR

{a) What is ‘reflex action”?
(b) Draw a neatly labelled diagram of ‘reflex arc’ to show how do we react — “when we step over a thorn,

while walking bare foot’?

{c) Name the organ inside which spinal cord is protected in human body.

Answer the questions on the basis of your understanding of the following passage and related studies/
concepts:

The endocrine system regulates the body’s processes by releasing chemical messengers into the blood
stream. Hormones are potent chemical regulators, produced in minute quantities, yet can have a large
effect on metabolism.

The endocrine system comprises endocrine glands, and the hormones they produce. Unlike exocrine
glands, endocrine glands are ductless glands, secreting hormones directly in blood stream rather than
through a duct or tube.

Some organs have both endocrine and exocrine regions. But they are structurally and functionally
different. To regulate hormone levels a mechanism which depends on ne gative feedback works
successfully in the system.

(i) What is an endocrine system and what are the components of if?
OR
How endocrine system is different from exocrine system? (Minimum 2 difference)
(i) Name the glands or organs which has both exocrine and endocrine functions.
(Minimum 2 glands or organs)
(i) Name the mechanism which controls the secretion of hormones ()]
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Date : 20.09.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs.
Class: X Subject : Social Science Max. Marks : 80
General Instructions: .
1. Attempt all questions.
2. Answer 1 mark questions as directions given.
3. Very Short Answer Type Questions carry 2 marks each. Answer to each question should not exceed 40 words.
4. Short Answer Type Questions carry 3 marks each. Answer to each question should not exceed 60 words.
5. Long answer type questions carry 5 marks each. Answer to each question should not exceed 120 words.
6.  Case based questions with three sub questions carry 4 marks each. Answer to each question should not
exceed 100 words.
7. Map based questions carry 5 marks with two parts, History (2 marks) and Geography (3 marks).
8. There is no overall choice in the question paper. However, an infernal choice has been provided in a few
questions. Only one of the choices in such questions has to be attempted.
9. In addition to these, separate instructions can be there for some questions, wherever necessary.
_ HISTORY& CIVICS : 40 MARKS :

01. Identify the correct option that best describes the characteristics of Germania, the allegory of the German nation. (1)
{a) Her image is drawn from the ideas of Liberty and the Republic — the red cap, the tricolour and the cockade.
(b) Her statues were erected in publjc squares.

(¢) She wears a crown of oak leaves, since, the German oak stands for heroism.

(d) Her images were marked on coins and stamps.

02, The Sri Lankan Tamils are concentrated in ............ of the country, Sri Lanka. (1)
(a) the north and the east (b) the east and the west (¢) the east and the centre (d) the north and the west

03.  Which of the following statements accurately distinguishes between a federal and a unitary government? (1)
(&) A federal government works only at one level, whereas a unitary government fanctions at more than one.
(b) In a federal system, power is not divided, whereas in the unitary system it is divided between different

levels.

(¢} Inthe federal system, the constituent units, i.e. the provinces are subordinate to the national government,
but this is not the case with the unitary system. ‘

(dj In the federal system, both the national and the provincial governments enjoy their power, independent
of the other, whercas in the unitary system the central government can pass on orders to the provincial or
the local governments.

04. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes given below :(1)
Assertion (A) : Empowerment of women in today’s world can ensure their dignified life.

Reasen (R) : It would lead to their arrogance, resulting in the loss of dignity in the civic life.

{a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A} and (R) are true and (R) is not the correct explanation of (A).

(¢) (A)iscorrect, (R) is wrong,

(d) (A)iswrong, (R)is correct. .

05.  “Itis an established fact that, in a democracy, political power should be distributed among as many citizens
as possible.” {1
Which of the following principles doesn’t conform to (follow) the above statement?

(a) People are the source of all political power.

(b) Quick decisions are not possible, if the power to decide is dispersed.

(¢) Everyone has a voice in the shaping of public policies.

(d) People rule themselves through the institutions of self governance.

06.  Identify this famous Indian personality, during the time of our freedom struggle, (1)

a) Bal Gangadhar Tilak
(b) Lala Lajpat Rai
(¢) Subramania Bharati

| (d) Gopalkrishna Gokhale

7. Choose the correct option to fill in the blank. _ M
From among the following subjects, ................... is in the State List.

(a) Communications (b) Forest {(c¢) Trade Unions (d) Trade, Commerce
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08.

09.

10.

11.

12.

14.

15.

16.

17.

18.

19.

20.

a2

Choose the correct option to complete the statement: :
Communalism involves the thinking that ............. . : (1)
(a) the followers of a particular religion must not belong to one community.

- (b) Their fundamental interests are the same.
(c) Any difference they may have, is relevant or important for community fife.
(d) It also follows that, people who follow different religions, can belong to the same social community.
Arrange the following events in a sequential order. (1
(a) Louis Philippe fled France.
(b} The revolt of the weavers in Silesia.
(¢) An armed rebellion of the Polish people against the Russian occupation.
{d) Convening of the Frankfurt Parliament.

(@) (i), (iv), (D), (i) (b) (iid), (), (D), Gv) (e} (i), (D). (), Av) (& (v, (1), (@), ()
Consider the statements given below and choose the correct answer. (1)
Statement — I : Duke Metternich, the Chancellor of Austria described Mazzini as ‘the most dangerous enemy

of our social order’.
Statement — II ; Metternich’s remark, ‘When France sneezes, the rest of Europe catches cold’, after the July
1830 upheaval in France came true, when Belgium broke away from the United Kingdom of
Great Britain. '
(a) Both the statements, I and II are correct. {(b) Both I and II are incorrect.
(c) Statement I is incorrect, but Il is correct. (d) Statement I is correct but 11 is incorrect.
Choose the right option to fill in the blank.
Caste system in the past was basedon ................ (1)

(a) hereditary occupational divisions sanctioned by rituals.
(b) inclusion of the ‘outcaste’ groups.
(¢) urbanisation, i.e. shift of population form the rural to urban arcas.
(d) occupational mobility, i.e. shift from one occupation to the other.
Which of the following staiements is correct with regard to the Scheduled Languages of India? (H
(a) There are in all 21 scheduled languages including Hindi.
(b) They are now included in the twelfth Schedule of our Constitution.
(¢) Chhattisgarhi is a scheduled language, grouped together with some other langunages, under Hindi.
(d) These scheduled languages have been chosen out of 124 major Indian languages.
Study the map thoroughly and answer the questions that follow : - {(2)
(a) If not language, based on what differences was the shaded state carved out of another bigger province.
Name the state. (See the History/Civics map) (V2 + ¥2)
(b) Name the Commission, constituted by the Central Government to reconstruct the Indian States. {Write
the full name) (1)
What was the role of Giuseppe Garibaldi in the unification of Italy? (Any twe points). (1+1)
OR (2)
What changes were introduced by the autocratic monarchies of Central and Eastern Europe after the 1848
movements of the liberals? (Any two) (1+1)
What distinct features does a ‘coming together’ federation have? Write any two of those features. (1+1)  (2)
(Note : Names written as examples are not considered as features.)
What scenes in India, after Mahatma Gandhi’s return from the Second Round Table Conference, prompted

him to re-launch the Civil Disobedience Movement (CDM)? (Any three conditions). 3)
What did the Belgian leaders recognise, when they amended their Constitution four times between 1970 and
19939 What two things did they prescribe for the Central Government? (1+2) (3)

“The decade of the 1830s was a time of great economic hardship in Europe.” Enumerate the factors
responsible for the untold misery of the European people. (Any five points) (1+1-+1+1+1)

OR (5)
What was Romanticism? How did the Romantics arouse nationalist feeling among people? Cite the
contributions of one Romantic thinker from Germany and another from Poland, by naming them, to the rise
of nationalism. (1+2+2)
“The focus on caste in politics can sometimes give an impression that elections are all about caste and nothing else. But
that is far from true”. Give your arguments to prove that, the above statement is not fully true. (1+1+1+1+1)

OR . &)
What social, economic & political measures do you suggest 10 establish gender equality in India? (1-+1+1+1+1)
Read the source given below and answer the questions that follow : (4)

On 6™ January 1921, the police in United Provinces fired at peasants near Rac Bareli. Jawaharlal Nehru
wanted to go to the place of firing, but was stopped by the police. Agitated and angry, Nehru addressed the
peasants who gathered around him. This is how he later described the meeting :

“They behaved as brave men, calm and unruffled in the face of danger. I don’t know how they felt,
but I know, what my feelings were. For a moment my blood was up, non-violence was almost forgotten — but
for a moment only. The thought of the great leader, who by God’s goodness has been sent to lead us to
victory, came to me and I saw the kisans seated and standing near me, less excited more peaceful than I was —
and the moment of weakness passed, I spoke to them in all humility on non - violence — I needed the lesson
more than they — and they heeded me and peacelully dispersed.’
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(2) What made Pt. Nehru angry and agitated? (1)
(b) “Who is the great leader, that Jawaharlal Nehru speaks about? (1)
(¢) What quality does Nehruji appreciate of the Kisans? (2)
What lesson did he need more than the peasants, - he felt?
Identify and write the names of the two places, marked as (A) and (B) on the given political map of India. (2)

(A) Here in the December, 1920 INC session, the Non-Cooperation Programme was adopted. (1)
(B) Mahatma Gandhi here led the movement of the Indigo Peasants. (1) '

:
:

GEOGRAPHY : 20 MARKS

Which of the following is a name given to an area sown more than once in an agricultural year plus net sown area? (1)

(a) Absolute net sownarea  (b) Gross cropped arca (¢) Arable land (d) Culturable Area
There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes given
below : (1)

Assertion (A) : Dams were built to impound river and rainwater to control flood.

Reason (R) : Regulating and damming of rivers affect their natural flow causing poor sediment flow.

(2) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(c) Assertion (A) is true but reason (R} is false.

(d) Both assertion (A) and reason (R) are false.

Which of the following is not a threat to tiger population in India? (1)

{a) The trade in tiger organs (b) Shrinking habitats (¢) Growing human population (d) Project tiger

Why is biodiversity important for human lives? (2)

Describe how communities have conserved and protected forests and wildlife in Indian.(3 points)(1+1+1) (3)

Discuss how rain water harvesting in semi-arid regions of Rajasthan is carried out. (1+1+1+1+1) (5)
OR

How may the multipurpose river projects become harmful for the country? Explain with the example

Read the following source and answer the questions that follow :

Human activities have not only brought about degradation of land but have also aggravated the pace of
natural forces to cause damage to land. The processes of soil formation and erosion, go on simultaneously
and gencrally there is a balance between the two. Sometimes, this balance is disturbed due to human
activities like indiscriminate cutting of trees, over-grazing, construction, mining, etc., while natural forces
like wind, glacier, ocean waves and water lead to soil erosion. The running water cuts through the clayey
soils and makes deep channels as gullies. Many rivers flood, bursting levees and causing untold damage to
crops. The land becomes unfit for cultivation and is known as bad land. In the Chambal basin such lands are
called ravines. Sometimes water flows as a sheet over large arcas down a slope. In such cases the top soil is
washed away. This is known as sheet erosion. Seil erosion is also caused due to defective methods of
farming. Ploughing in the wrong way i.c., up and down the slope forms channels and the removal of forests
for ‘slash and burn’ cultivation results in the quick flow of water leading o seil erosion.

22 (i) Name the agent that causes sheet erosion. : (1)
22 (ii) What are the deep channels called, that are made by the running water, that cuts through the clayey soils? (1)
22 (iii) Explain any two human activities which are responsible for land degradation in India. (2)
On the given political outline map of India, locate and label the following. (Any three) (1+1+1) 3)

(i) Area of arid soil (i) Salal dam (ii1) Hirakud dam (iv) Chennati port
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In the following question, the Assertion (A) and Reason (R) have been put forward, Read both statements
carefully and choose the correct answer from below: ' (D)

Assertion (A) : India has experienced some significant changes in the contribution to GDP by the Primary,
Secondary and Tertiary Sector.

Reason (R) : In terms of GDP, the Primary sector has emerged as the largest producing sector in India
replacing the Tertiary and secondary sector.
(a) Both assertion (A) and reason {R) are true and reason (R) is the correct explanation of assertion (A).

(b) Both a‘ssertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
{c) Assertion (A) is true but reason (R) is false.

(d) Both assertion {A) and reason (R) are false.
Sunita, a 25 year old woman lived in a village, Her height is 1.45 m and weight is 48 kg , while Nisha of the

same age and height, weighs 36 kg. What can be said about their nutritional condition? {1
(a) Sunita is normal and Nisha is underweight {b) Both Sunita and Nisha arc underweight.

{c) Sunita is underweight and Nisha is normal. (d) Both Sunita and Nisha are overweight.

Correct and arrange the important aspects for calculating GDP from the following jumble: (1)

To count goods and services, we add the numbers that are produced. We count all those that were produced

in the last five years. Since we shouldn't leave out anything, we add up all the intermediate and final goods
and services.

What is double coincidence of wants? ()
(a) Exchanging commodity for commodity
(b) Credit on commodity
(¢) Loan on commodity till sold further
(d} Both parties have to agree to sell and buy each other's commodities.
Identify the appropriate statements among the following options: (1)
(i) Banks accept deposits from people who have surplus cash and charge interest on the deposits.
(i1) People's money is safe with the banks and they earn an amount as interest on deposits.
(111) The deposits with banks are termed as Demand Deposits as the banks may demand for surplus cash
whenever they need it.
(iv) ‘Accepting deposits and lending loans are the main functions of the bank.
(a) Ouly Statements (1) and (1) are appropriate.
(b) Only Statements (i1) and (iv) are appropriate.
(c) Statements (i}, (ii) and (iv) are appropriate
(d) Statements (i1), (iii) and (iv) are appropriate
Explain the situation which gave rise to the need of a medium of exchange? How does the use of money
make it easier to exchange things? (1+2=3)

Mention the economic activities on the basis of ownership of assets and distinguish between them giving
suitable examples. (Two points of distinction) (1+2=3)
OR
Distinguish between economic activitics on the basis of employment conditions giving three points of
distinction and suitable examples. 3)
What is the meaning of "Underemployment"? Mention the occupations in rural areas where
underemployment is more prevalent? Mention any three ways to create more employment in rural areas.
(1+1+3X5)
OR
What do you mean by tertiary sector? Give any four reasons for the rising importance of tertiary sector in
India. {1+4=5)

Read the source given below and answer the questions that follow:

Once it is realised that even though the level of income is important, yet it is an inadequate measure of the
level of development, we begin to think of other criterion. There could be a long list of such criterion but
then it would not be so useful. What we need is a small number of the most important things. Health and
education indicators, such as the ones we used in comparison of Kerala and Maharashtra, are among them.
Over the past decade or so, health and education indicators have come to be widely used along with income
as a measure of development. For instance, Human Development Report published by UNDP compares
countries based on the educational levels of the people, their health status and per capita income.

(i} Why is Average Income an inadequate measure of the level of development? (1)
(ii) How is the report published by UNDP different from the report published by the World bank? (D
(iii) Define Infant Mortality Rate and Net Attendance Ratio. , (2)
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Date : 12.02.2023 FIRST TERMINAL EXAMINATION - 2023 Time : 50 Minutes

Class : X Subject : General Knowledge Max. Marks : 50
Name of the student: Class/Sec. Roll No.
invigilator’s Signature Marks obtained : /50
General Instructions:
° All the uestions are compulisory.
» There are 50 questions of 1 mark each.
a1, The velocity of any particle is depend upon time ¢ in following manner v = at + % then the dimensions of
o, and vy are?
() LT} L] [L777] (b) [LT72],[L1,{T] () HLT'LILLITY] () [LT72L (7). L]
02. If the radius of earth increases by 1% and its mass remains same then acceleration due to gravity on the surface of
garth will —
(a) Increase by 2% (b) Decrease by 2% {c) Imcrease by 1% (d) Decrease by 1%

03. A body falls freely nnder effect of gravity. The ratio of distance covered by the body in T, ™ & 1™ seconds
respectively is —

(ay 1:3:3 by 1:2:3 (cy1:4:9 (dy 1:5:6
04.  The average angular velocity of minute hand of a wall clock is —
(a) :—0 Radian/minute {b) -fg Radian/minute {c) % Radian/minunte (d) ;;fa Radian/minute
05, A person of mass 50 kg is standing in a lift which is coming downwards with an acceleration of 9.8 m/sec”. The
apparent weight of the person is : (g=9.8m/secz) -
{a) (50x9.8) Newton {(b) Zero {c} 50 Newton {d) (50/9.8) Newton
06. The momentum and K.E. of an object are p and E respectively. If its momentum becomes 2p then its K.E. will be —
@ 2 (b) 3E (c) 2E (d) 4E
07. If the frequencies of x-rays, y-rays and ultraviolet rays are a, b & ¢ respectively then —
(a)y a<b.,b>c (bya=>bb>c (c) a>b,b<c (dy a<b,b<c
08. The angle of contact for silver and pure wates is —
(ay 0° (b} 90° (c) 180° (dy 120°
09. 10 Bulbs of power 50 Watt each illuminate 10 hrs. daily for 30 days, then energy consumed in kw hr. is?
(a) 1500 (b) 3000 (c) 15 (dy 150
10. Whose resistance reduces on increasing the temperature —
(a) Metal - {b) Alloy (c) Semi-conductor (d) All of these
11 Magnetic lines of force are —
(a) Open curve (b) Closed curve {c)} Straight line {d) None of these
12. Resistance of an ideal Ammeter is —
(a) 0 ' (b} oo (cy 100 (d) 1000
13. The core or a transformer is laminated for —
(a) Reducing effect of eddy current (b) Reducing effect of D.C.
(c) Reducing electric consumyption (d) None of these
i4. Main source of solar energy is —
(a) Fission process {b) Fusion process {c) Chemical process  {d) Combustion process
15. In a nuclear reactor controlled rods are made of —
{a) Uranium (b) Graphite {c) Plutonium (d} Cadmium
16. Which of the following 1s not a chemical change —
(a) Rusting of lron (b} Digestion of food {c) Freezing of water (d) Buming of paper
17. Which of the following is a mineral acid — '
(a) H,COs {b) HNO; (c) CH;COCH (d) HCOOH
18. The chemical formula of the oxide of an element M is M;Os. The chemical formula of it’s phosphate will be —
(a) Ma(POy)s {b) M5(POy); {c) M(POy); (d) MPG, '
15. Atomic number of an element is 19 it’s valency wil! be —
(a) 1 by 2 {c) 3 (dy 4
20. A covalent molecule containing double bond 1s —
(@) Ny (b) Hy (¢} O (@) CL
21. Which of the following is not an alkali —
(a) KOH (by C,H;OH (¢) NH,OH (dy Ca(OH);
22. Which of the following is not a combination reaction —
(a) CaO + H,;O — Ca(OH), (b)Y NH; + HCi— NH,CI
{c) ZNH;+ HyO + COy = (NH,)CO, - {d) Cu+2AgNO; - Cu(NO;), + 2Ag
23. Which of the following will show Tyndall effect —
(a) Aqueous solution of sodium chloride (b) Aqueous solution of copper suiphate
(c} Aqueous solution of starch (d) Aqueous solution of sugar
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H-—-(E:-—}L‘——OH IUPAC name of the compound

=

{a) Ethanol {(b) Ethanal (c) Methanol (d) Ethanoic acid

The metal which can be extracted from haematite ore — -

(a) Al (b) Fe {c) Zn (d) Hg

Bleaching powder, shows bleaching property because — ‘

(a) If produces chlorine gas. (b) If produces nascent chorine.

(c) It form lime water (d) It forms calcium chioride.

Number of electrons in outer most orbit of noble gases are —

(a) 2 {(b) 8 () 10 (d) Zor$§

An element X is soft and can be cut with knife. It is stores in kerosene, because it catches fire in presence of air. The
element is — '
(2) Phosphorus (b) Potassium {¢) Sodium (d) Calcium

Sulphide ore is converted into oxide by which of the following method —

(a) Roasting (b) Calcination {c) Smelting (d) Corrosion

Exception of malleability are - ‘

(a) Ca, Ay, Ag (b} Na, K, Hg (¢) Cu, Zn, Pt (d) Au, Ag, Al

Which one of the following is an insectivorous plant ?

{a) Castor (b) Hydrilla (¢) Monotropa (d) Drosera

The end product of respiration in plants are —

(a)} CO,, H;O, Energy (b) Starch and Oy {c) Sugar and O, {d) H;O and Energy
Chromosomes are chemically made up of —

(a) Nucleicacid and protein (b) RN.A. and protein {¢) DN.A. and protein  (d) Ouly protein
Largest gland of human body is —

(a) Liver (b) Pancreas (c) Salivary gland (d) Thymus gland
Which of the following is — man made substance ?

(a) Glass (b) Wood {¢) Leather (dy Silk

In anaerobic respiration

(a) Oyistaken in (b)Y CO, is taken in {(c) CO:is given out (d) O, is given out

Choose the incorrect statement —

(a) Golgi apparatus is involved with the formation of lysosome.

(b) Nucleus, mitochondria and plastid have D.N.A. hence they are able to make their own protein.
(¢) Mitochondria is said to be the power house of the cell as A.T.P. is formed i them.

(d) Cytoplasm is called as protoplasm.

Ecosystem has two component —

(a) Plant and animal (b) Weeds and trees (c) Biotic and abiotic (d) Frog and Grass
Which of the following equations most adequately sums up the photosynthetic reaction ?

(a) COg + HQO = CHzO + 02 (b) C5H1205 + 602 = 6C02 + H20

(C) 6C02 + 6H20 = CﬁH]206 +0O2 (d) 6C02 + 12H20 = C6H1205 + 602 + 6H20

In hydra and yeast asexual reproduction take place by -

(a) Cleavage (b) Regeneration (¢) Spore formation {d) Budding

The term ‘Biology’ was first used by

(2) Linnaeus (b) Robert hook (c) Lemark and Traviranus (d} Charles Darwin
Which of the following is the simplest carbohydrate ?

(a) Maltose (b) Glucose (c) Sucrose {d) Starch

Pollen grain comes out from pollen sac and reaches to stigma. This process in known as —

{a) Self pollination (b) Cross pollination (c) Pollination {(d) Fertilization

‘Bacteria’ can not survive in highly salted pickle because —
(a) Salt inhibits reproductions of bacteria

(b) Bacteria do not get, enough light for photosynthesis

(¢) They become plasmotysed and concequently died.

(d) The pickle does not contain nutrients essential for bacteria
Analogous organs are —

(a) Similar in function (b) Similar in structure

(¢) Non functional (d) Similar both in structure and function
Tsarina Alexandra was of

(a) German origin (b) Russian origin (c) Austrian origin (d) Polish origin

The Tropic of Cancer passes throngh

(a) Hyderabad (b) Lucknow (¢) Gwalior (d) Ranchi

............ is called the father of Economics.

(a) Adam Smith {b) Kari Marx {c) Fredrick Angles  (d) Henry Ford

The Preamble to the constitution of India has been amended

(a) Omnee only {b) Many times (c) Never amended {d) Two times

The concept of Parliamentary system of government has been borrowed by our constitution from
(a) France {b) Britain (¢) The USA (d) Germany
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DELHJ PUBLIC SCHOOL, BHILAI

Date : 27.09.2023 MIDTERM EXAMINATION - 2023 Time : 2 Hrs.
Class : X Subject : Artificial Intelligence Max. Marks : 50

General Instructions:
This question paper is divided into three sections namely A,B and C. Please read instructions in each section carefutly.
Section A is of 24 marks. Each question is of 1 mark. Section B is of 18 marks. Each question is of 2 marks.
Section Cis of 8 marks. Each question is of 4 marks.

All questions of a particular section must be attempted in the correct order.

Section' Ac

I.  Answer any 4 questions out given 6 questions. (1x4=4)
1. A smile and a node is an example of ..o,
a. Verbal Communication b. Non Verbal Communication
c. Oral Communication d. None of these
2. e feedback suggests a need for change in the mode of communication. .
a. Positive b. Negative ¢. Mechanical d. Clear
30 is an example of external barrier.
a. Gestures b. Emotions c. Weak telephonic signal ~ d. Bias
4, e is also about avoiding the use of complex words, sentences and confusing language.
a. Fluency b. Accuracy ¢. Clarity d. Tone
5. e refers to the situation of environment in which the message is delivered.
a. Content b. Process ¢. Context d. Encoding
5. With which of the following words can we not use the article ‘an’?
a. Buropean b. Hour c. Egg d. American
II.  Answer any 10 questions out given 12 questions. (1x10=10)

1. During the early period, the research in Al systems was restricted to.........
a. Solving problems b. Duplication the functioning of human mind
c. Winning computer games.  d. Augmenting defense capabilities

2. Im....... , we provide the Al model for the correct answers ahead of time.
a. Transfer learning b. Unsupervised learning
¢. Reinforced learning d. Supervised learning

K S is the subset of Machine Learning.

a. Deep Learning b. Artificial Learning c. Semi-Bio Learning d. Redundant Learning
4.  Which of the following is NOT one of the three domains of Artificial Inielligence?

a. Data b. Smart decision making ¢. Computer vision  d. Natural ianguage processing
5. Which of the following is NOT a part of the Natural Language Generation?

a. Text planning b. Text analysing c. Sentence planning d. Text realisation
6. Which of the following does not use environment perception?

a. Security systems b. Drone surveillance systems

¢. Smart Vehicles d. Smart medical databases

7. In Simple words, ethics are concerned with:
1 What is good for individuals
it What is good for societies

a.Only I b. Only II c. Both I and 11 d. Neither I nor I1
8. Which of the following is NOT one of the ethical concerns related to the AT Systems?
a. Job loss b. Decreasing inequalities  c¢. Privacy concerns d. Negative adoption
9. - Which of the following techrology is predominantly used by Amazon Alexa?
a. Image Recognition b. Speech Recognition c. Robotics  d. Neural Stems
10. The decision to purchase the cheapest computer in the shop will bea . decision.
a. Structured b. Unstructured ¢. Semi-Structured  d. Demi-structured
11. Personal Assistant Siri was developed by
a. Microsoft  b. IBM c. Apple d. Samsung
12. Pandora recommends '
a. Movies b. Songs ¢. Books d. Dresses
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III. Answer any 10 questions out given 12 questions. ‘ (1x10=10)

1.  Which of the following comes first?
‘a. Problem scoping b. Problem identification
c. Goals identification d. Stakeholders identification

2. Which of the following data is available as soon as the data event takes place?
a. Big data b. Real time data ¢. Spatio-temporal data d. Time stamped data

‘Which of the following activity is NOT a part of Evaluation and Deployment stage?
a. Evaluation  b. Tuning ¢. Review d. Exploration

(8

4, Al systems cannot ......... data.
a. Sort b. Classify  ¢. Understand d. Analyse

5.  Train schedules of Indian Railways and mark sheets of students in the specific class are examples of

a. Structured data b. Un-structured data c. Semi-structured data d. Big data

6.  Which of the following is a machine learning algorithim that allows software agents and machines to
automatically determine the ideal behaviour within a specific context to maximise its performance?

a. Reinforced learning  b. Supervised learning c. Deep learning d. Enforced learning
7.  Which of the following technology is based on the adaption of how the human brain works?
a. Supercomputing b. Smart technology c¢. Super networks  d. Neural networks
8 are used for developing computer programs, which learns from data.
a. Neural Networks b, Data Centres ¢. Data Mining d. Artificial Systems
9.  With which of the following activity does the Al project cycle start?
a. Brainstorming b. Resource allocation ¢. Problem defining  d. Goal Setting
10. Normat IT projects end with the ................. :
a. Evaluation phase b. Modelling phase  c. Deployment phase d. Testing phase
11. Which of the following is not part of Al project cycle? . -
a. Data Exploration b. Modelling ¢. Learning d. Problem Scoping

12.  Spatiotemporal data contains following information
a. location b. time ¢. both location and time d. Neither location nor time

Section B:

IV. Answer any 3 questions out given 4 questions. (2x3=6)
1. What factors should be considered while giving descriptive fecdback?
2. What is the importance of feedback
3. Mention any two factors responsible for causing Internal barriers during communication.
4,  What are the 7C’s of communication?
V. Answer any 3 questions out given 4 questions. (2x3=6)
1. What was the controversy created by Twitter’s chatbot “Tay’?
2. Which problems are easier to solve: Structured decision problems or Unstructured decision
problems? Why?
3. Differentiate between supervised and unsupervised learning.
4.  Explain the Black Box problem and its implications?
VI. Ampswer any 3 guestions out given 4 questions.' (2x3=6)
1.  Howis an Al project cycle different from a normal 1T project cycle?
2. Write a short note on learning based systems.
3. How are sustainable development goals linked with artificial intelligence?
4 Differentiate between Data acquisition and Data exploration.
Section C:
VII. Answer following questions. (4x2=8)
1.  Explain domains of Artificial Intelligence.
- OR
Explain AL, ML and DL
2. What are the 5 stages of project cycle? Explain each stage briefly.
OR

Explain 4Ws problem canvas
CECE03 RO



